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(1 (2z2+6)+bxr—3)=22x+6+5x—3
=(24+5x+(6—23)
=Tz +3

(3) 250 +(—5)=—50b

G) 2+2°42=2+4+4+2

= 8
7 =34+(=-7)=—-(3+7)
=—10
x—2 _(x—2)x6
9) 3 X6 = 3
=(x—2)X2
=2x—14

=1
2 5
(15) 3—(—8)—<—§>=3—<—8>x<—5>
=3-20
=—17
(17) 4x+11=8z+7
de —8x=T7-—11
—4r=—14
z=1

19 03x—04=2 @210 2720 T

0.3z —0.4)x10=2x%x10

3x—4=20
3x=24
x=28

2) Ba+7)—(—2a—6)=3a+7+2a+6
=(3+2)a+(7+6)
=5a +13

4 (—6)X3a=—18a

6) (—18)=(—3)=+(18+3)

=6

® (—4)x(=5)=+(4x5)

=20

(10) (252 —15)=5= 25x —15

(12) 8+5><(—20)=8><%><(—20)

]
_—<8x€x20>
—_39

(14) %(6x—4)+%(3x+9)=3x—2—|—x+3

=4z +1

Li8a+12)— L1100 —6)=22 +3—5a+3

(16) i 5

=—3a+6

(18) z—6=—x
x+x=06

2x =06

x=3

(20) E.7c' +4 :ix
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S5r +24=3x
2r=—24
x=—12
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